£15E

BETT7I)—/NRIVIHERE

2023%£2A 128 R

a— b | B ODOE P IEAREE BEBR - JEREVh - BER - Vv 7> OIELTS
F—1% s 2# & 3HE 4RE 5H & 6 & BHas tvbe AZ | IEM
Zltvyk | 0 | O 14 | 3 5 | 2
gE2vvk | 0 3 6 2 4 |
®/% | 0| 3 IE 20 IE Bl & g | 3
WSTAWAYD sewr -1 @ste 2 @ef | @8 2 1313|182
"/rER -3 |5 6
5t = I 6 6
Hlevyk | 0 0 | | )
#E2vvyh | 3 0 q | 12 | 3
. &/ | 3 O 2| & IE 10 2 | 26 5 IE
horsebird e vt 2% | BAR | 2| @A 16 4 32 1
EE S, 3 8 21
b A 5 5 6
ER RN | 0O | 3 | 14 2 | 14
g2k 5 17 2 6 3 12
"/ % FE 6 17 5 20 BIE 5 26 BIFE
D.I.S© Bxevr | BAE 0 -2 e -2 S 2 4 A7 4
EE S, -1 -15 -21
b A 2 0 0
ER RN 0 | | | 2 | 5
24k 17 | 5 | q | 4
/% 2|58 17 | 6 BI| & 2 10 F 3 3.9
WATALFIIR L0 aw 0 as | am 5 -3 -3 3
EE |l -8 -6
Bt A 4 I 0




FI5E BEI7I—/NIRIVIPHEeKRE 2023420 1208 Bk

J— b2 $HEOWB FR IBHRE IS BB - BEEYh - SRS - Yvirs OIRCTS
F—0% ED 28 CET) e CERY ) Bt oobz| B2 | B
Elevyh | 4 8 | 3 | g
gL2r2eyh | 7 5 2 7 4 T
#/% 1113 X®/ 3 10 EF 2% | 5 19
AFB @ "AREYE 0 (EERE -2 R mE -2 2 -4 -23 4
/LA -2 -7 A
B = 2 0 0
Zltvh 8 4 [ 10 5 7
g2vh| 5 | 7 5 10 2 | 9
Rk 1311 BIE F®E 6 20 7 16| FE
UFBC  axesr o wE | BAER -2 2| B 4 4 213
"_rEA 2 -4 -q
Bt & 4 0 0
EAR] S 2 [ 2 3] 1 7 | 5
g2ty 36 7 2 g | 2
< "%k FE 5 8 10 3 22 16 | 7 2|2
DB aresr AR 2 9% 2 HE 133 13 2
cren -3 7 g
B5 A | 6 6
EAR]S 2 | 2 10| | g |
FE2vvh 6 3 10| 5 10
#/%  BIE 8 5 EBIE 20 6 FE 19 5
AL ‘LUt BE | E > 2 5 1A > 17 & 31 1
/LR 3 | 4 | 4
Bt A 5 6 6




£15E

2— 3

BET7 I —/NRIV AR

BROE PR

2K&

2023%£2A 128 R

IBAREE BEbR - JBEEVE - BERE - Yvorr DIELTS

F—0%

& &

4EE

5 &

6

He

Bt =

tybE| RE

NE A1z

H&M O

Fltvh

E2 vk

(CVS

B/Etvh

1% % Iﬁ\

B5H m

IE
(EFA

N
o

EE
B 1R

&l %
R

-3 -33

hEITNY

EA RN

E2t vk

(CVES

B/ktyh

FRm

B5H m

e
8 1%

~

8

2

Iﬁ\ 1/%

-5 -19

Try-spo!

EARAVIN

F£2t vk

(CVES

B/ktyh

(EE

Bt =

e
B m 1%

;utﬁ_ Bl

17

<)+ —Xx

Fltvvh

F£2tvh

(CVES

Bktyh

"TRR

Bt =

~

FE
F-XA

13




£15E

BETT7I)—/NRIVIHERE

2023%F 2R 128 &

d—F4 #HEol T WEGRE L BBA - Bhktyh - BES - Jvisry OIECTS
F—L% EX PEY 3Ee 4Ee CE e e P e =T
Zltvyh | 4 8 3 10 6 |
g2wyk | 7 4 3 4 5 | 13
; = /g% Il 12 FE | 4 - L 1| 24
RRITT exesr o B A% -2 BEG | BE 2 2 4 -22 4
/LA -1 -8 _13
B = 2 0 0
Zleyk | 8 | 4 319 218
g2vyh | 4 | T 315 5 | g
/7% 12 11 2% 3 6 24 7 17| EE
DLS@  exewr o wE | BER -2 2| Bk 4 4 -2r 3
EE I -18 -10
Bt & 4 0 0
By 3 1210 3 8
F2tvh 5 7 4 3 g 5
D "%k FE 8 19 14 6 =l 17 | 7 2|5
HEEA BLtyt | BFARE -2 2 fe 52 2 fa 5z 12 | 2 7 2
/ERRA -1 8 10
Bt = 0 6 6
EAR A 12| 3 g 3 I
®E2tyh 7 5 15 3 13| 5
: #/%  BIE 19 8 BIE 24 6 FEE 24 I
e7L=h ‘LUt BE 2 E > 2 5 1A > 18 6 42 1
EE N Il |8 |3
5t = 6 6 6




FI5E BEI7I—/NIRIVIPHEeKRE 2023427 128 Mk
d— b5 gEEOS FiE BRI BB& - Bkbyh - BEES - Yol OIELTS
F—L% vy 286 3RAE 4RE 5 G 6 & BEb s tvbzE AZE JEAL
=1y | 7 | 4 8 19 4 19
#=2vvh | 8 | 2 3 | 6 8 | 6
/% 15| 26 F5 Il | 35 FE 2|2 12 | 35
HIM @ 00 2 s 2 BAR | B 2 0 -6 -58 4
BkA -11 -24 -23
B 5 0 0 0
Zlvvyh | 14| 7 2 12 | 4 7
w2 yh | 12 | 8 2 |l 2 |2
B/% | 26 15 2| & IE 4 | 23| 6 19 IE
JUST A WAY = - P - -
@ greyr 2 o | @sfm | -2 2 EmAfE 6 -2 -21 3
BEks |l -19 -13
B 5 6 0 0
=ty h | | 19 | 8 7 4
2y k 2 6 16 | 3 12 | 2
&/ % I3E 3 07 35 1l 2% 19 6 2| &
M—BLOOD LEON = = =
Bxtvh| BARK -1 2 4 52 2 & 5z 13 3 33 2
Bks -4 24 13
B 5 | 6 6
EARAN | | 12 | 2 19 4
2y k 6 2 | 2 16 | 8
. &/ % = 7 3 2|5 23 | 4 F5E 35 12
BTTLY RV YT R B = )
HETT ) BELyh R | RE 2 B/alk 2 17 1 5 46 1
BkA 4 19 23
BED 5 5 6 6




FI5E BEI7I—/NIRIVIPHEeKRE 2023420 1208 Bk

IBAREE BEbR - JBEEVE - BERE - Yvorr DIELTS

3—F6 #HBow FR
F-o& ES 288 3H e EP 588 63 & e B T
Flevh | 4 6 | 10 7 | 2
g2€vh | 8 5 5 | 17 7 | 4
/% 12 11 & 27 E#E = 14 | 6
AFBD  gxevr o @k 2 ARk &E 2 10 0 -7 2
EE I -16 3
Bt 5 4 0 6
ERRAVES 6 4 | B 6 Il
E2t vk 5 8 3 5 10 Il
B/% 11 12 B EE 4 8 16 22 EE
JOKER  Tesenr o BE | BAR 2 2 BAK 2 4 -11 4
BrA | - 4 -
BE A 2 5 5
Zltvh q 2 10 | 6 | 6
2t vk 9 5 17 5 11 10
> ]/ % F® 18 7 2711 BIE 22 le EIE
Soh L Bxtvh| BARK 2 2 ke 2 4 52 18 6 33 1
JFEA I 16 6
55 & 6 6 6
ESR AV 2 q 3 | > 7
E24wh 5 | g 5 | 3 2 BB
o=~ /% e 7 18 Bl 8 4 FE 6 14
ANTA= B/Etvt BRE -2 oEd 2 18 5 47 5 6 -2 -15| 3
/LR -1 4 -8
Bt A 0 6 0




